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B.Com. DEGREE EXAMINATION -
JANUARY, 2006.

(For AY 2003-04 and CY-2004 batch students)

First Year

FINANCIAL ACCOUNTING

Time: 3 hours Maximum marks: 75

PART A- (3 x 5=15 marks)

Answer any THREE questions.

1. Anand sells goods to his approved customers on
'Sale or Return' basis at a profit of 20% on sales,
treating as actual sales. On 15th December, goods
costing Rs. 1,000 were sent to Balu Traders. No
confirmation has been received from Balu Traders until
31st December. Give the necessary' Journal entries in
the books of Anand. ' ,

~

lq-8'WUrf15-w a~~. 6lSIIDu~mu5lro 20% @rorruw Quww

6)J~8iu5lro ~mp;~ 116lSI1Du~m ~roro~ ~@UUW"
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lq-aIJLrf~8;~ ~WJut.S1mrrrf. urrw lq-aIJLrf~nS1LuS1@p;~

lq-8'WUrf31 6)J~IJu5lro 6rP;~ ~8i6)JWW QUIDUUL6lSIro~ro.
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~rram a:1f)8;B;Llq- Qa;rrffi~LD aUaIJL(b\ a;6Wf8;~

~lq-uuroLuS1Gb Qurr§! aUaIJLlq-Gb 31.12.2002Gb (!Plq-QlroLlLjLD

~m,-lq-W~rf11lJ a;LmrrGTf}a;ffi a:rf1a;L(b\ a;6Wf8;$1rom ~llJrrrf18;a;~tb.

@.

10,000

1,50,000

65,000

1,000

2,000

6,000

9,000

2. Mr. Shanmugavel purchased (second hand) a
machine for Rs. 8,000 on 1.4.2000. He spent Rs. 3,500 on
the repair and installation. Depreciation is written off@
10% p.a. on the original cost. On 30.6.2003 the machine
was found to be unsuitable and sold for Rs. 6,500.
Prepare the machine account from2000 to 2003,
assuming that the accounts are closed on 31st December
every year.

~<5' a:~(!pa;aQlGb @. 8,000 LD~uLjffiGTTuroWIlJ
.@1lJp>~lJffiJa;roGTT1.4.2000tb ~6oT.Q)J QlrrffiJ$1mrrir. @. 3.500

Qa:61)~ Qa:lU§! ~ro~ Jfilro61)uu(5\~~mrrir. ~L8;a;6IS1ro61)uS1Gb

~61inTlq-W@) 1096 a~lULDrrmtb 6f~~UULL§!. 30.6.2003-Gb

~6U6IS11lJp>~lJtb@. 6,500-8;~ 6IS1wa;UULL§!. 31.12.2000 (!P~Gb

31.12.2003 QlrolJuS1Gb.@1lJP>~IJ8;a;6Wf8;$1rom~llJrrrf18;a;~tb.

Discount allowed

Bills receivable received

Bills receivable dishonoured

Allowances to customers

Interest charged on
dishonoured bills

3. From the following particulars, prepare Debtors
Ledger Adjustment Account as it would appear in the
General Ledger for the year ended 31.12.2000 under
Self-balancing System.

~mQlrf11, 2000 a;LmrrGTf}a;ffi.@@ULj

Iq-a:tbuir31, 2000 a;L6oT6IS1wu6'6)m

a;LmrrGTf}u51LuS1<5p>§!QuW!!> QlJrra;a;tb

QllJrr8;a;L6oT aurr8;Qa;W1llJrr§!

~ffi ~<5uutb

~WJLD~8;a;uuLL ~ffi~ulq-

QJIJ~8;~rf1lU ~~lq-lUGb QUW!!>§J

QlIJ6tj8;@)rf1lU~~Iq-IlJGb

LD.Q)J8;a;uULL§!

QJrrlq-8;roa;1lJrrGTT@8;@)a:~ roa;a;ffi

LD.Q)J8;a;uuLL~~lq-lUGb t.P§!QlLIq-

Rs.

January 1,2000 Balance of debtors 10,000

1,50,000December 31,2000 Credit sales

Cash received from debtors 65,000

Bad debts written off 1,000

2,000Returns inward

2 2411 3

Rs.

6,000

9,000

1,000

2,000

500

1.000

2.000

500
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4. Write the differences between balance sheet and
statement of affairs.

.@@U Lj .@6"6)Q)(!!)1D1 U LJ.$(!!)I.D ~ QIIT ~ 1D1.$6"6)B;.$@)lbf2...6Tr6!T

GQJ!);)IU rr(1)B;6"6)6!T6T"@pJ6\.Ilb.

5. Write short notes on :

(a)

(b)

Dual aspect concept

Average clause.

61!);)1 (!!)1D1 U LJ QJ 6"6)I) B; :

(~) .@(!!jGpJrrIDP>B;@~§J@

(~) 6IJrr6rf1~IJ~§J.

PART B- (4 x 15=60 marks)

Answer any FOUR questions.

~L.$B; ~mQ) 8i\.L...G'5096. .@Q)rrul.DQU!);)II.DQJmB;uS16b

pJmQ)mLD ~~QJQ)B;lb pJm§J .$1m6!T.$@) 61).$@)B;m6!T

~WJu4.$1mp>§J. .$1m6!T QU!);)Ilb QlJrr.$B;~~mm. pJ6"6)Q)mLD.$(!!)

~WJU4.$1P>§J. ~6"6)m~§J Q6Q)6\.IB;6"6)6!TlI..jlb pJmQ)6"6)LD

~~QJQ)B;GLD Q6~P;§J.$1P>§J. B;LmrrGlftB;6Tr LDID!);)Ilb61).$.$1@u4

(y>6"6)p>uS16b.$16"6)6!TuS1m.@Q)rrulb ~6bQ)§J piL...Lp;~6"6)m B;6m'.$.$1G'B;.

G.

27,900

Sales at Branch:

Cash

Credit

Cash collected from debtors

Goods returned by debtors

Goods returned by Branch to Head Office

Shortage of stock

Discount allowed

Expenses at the Branch

Bad debts

6. A Head Office invoices goods to its branch at cost
plus 50%. Branch remits all cash received to the Head
Office and all expenses are met by the Head Office.
From the following particulars prepare the necessary
accounts on the Stock and Debtors system to show the
Profit or loss at the Branch.

Stock on 1.1.2003 (Invoice price)

Debtors on 1.1.2003

Goods sent to Branch (Invoice price)

4

.
Rs.

27,900

20,400

1,53,000

2411

QpJrrL.$B;61J.$@)1.1.2003 (.@Lrru4 ~mQ»)

Q~rrL.$B;B;LmrrGlftB;6Tr(1.1.2003)

.@Lrru4 6616"6)Q)uS16b~WJul.S1UJ 61J.$@)

5

Rs.

75,000

93,000

91,200

3,600

4,500

1,350

600

16,200

600

20,400

1,53.000
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QIJIT8;c$~lDumm

c$L6UT~lDumm

C!!).

75.000

93.000

91.200

3.600

4.500

1.350

600

~(!]j. ~ IT~ uJ51 (!]j.rn~ Q u rF.Jc$ITQ) 6i1JrF.Jc$Lb .ffi1 WLDLb ~(!]j

L6UTWJ8;~C!!).5 ~JftmLD Q~ITmc$ 65~Lb ~ffil8;c$ 1.1.1996 <!:p~Q)

25 ~6!iur(b)c$~8;~ ~uu.rn~w Q8'uJ~ Qc$IT6!iurL~.~m/D.rn~ UL8'

6)JITLmc$Q~ITmc$ C!!).20.000/-. <!:p~Q)&!~~ ~6!iurtq.ID~~ ~m/D

2...IDU~~mlU tDLG' Qc$IT~GTT~uu~~Lb 6)JW1Q8'uJffi1/D§!.c$LmITffilc$~ ~LW QUID/D QIJIT8;c$W

6)JITtq.8;mc$lUITGTTn-c$~ ~(!]juL.S1lU 8'1J8;~

ffi1mGTT~(!]juL.S1 ~WJUt51lU 8'1J8;~

8'1J8;(§ UID/DIT8;(§6l'J/D

~WJl.D~8;c$UULL ~~~utq.

ffi16l'JGTTuS16UTQ8'6\)~c$~

6)J IJIT8;c$L6UT

16.200

600

7. The Bengal Mines Co. Ltd took from Mr. Dass a
lease of mine for a period of 25 years from 1.1.1996 on a
royalty of Rs. 5 per tonne of mineral extracted with a

/

dead rent of Rs. 20,000 and power to recoup
shortworkings during the first five years of the lease.

The annual output were as follows:
1996 2000 tonnes

1997 3000 tonnes

1998 4000tonnes

1999 4500 tonnes

2000 5000 tonnes

Give journal entries in the books of the Bengal
Company.

QUrGIc$ITGU.ffilWlD 6JLtq.GU<!:p~ID(§p51uauL~ w~~c$6l'JGTT

~(I!}c$.

8. Mr. Kumaran keeps his books under single entry
system. The position of his business on 1 January2000
as under.

Sundry Creditors 17,000 Sundry Debtors 20,000

Premises 50,000 Furniture 2,000

Stock 25,000

6 2411
7 2411

6)J(I!)LI.D 2...IDU Lc$Grf1Gb

1996 2000 L

1997 3000L

1998 4000 L6UT

1999 4500 L6UT

2000 5000L6UT
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The following further information is available:

Depreciate premises by 10% and Furniture by

15%~Create a reserve of 2t % for bad debts on debtors.
Expenses include Rs. 2,500 paid for house rent of
Kumaran. Cash sales include Rs. 2,000 of his personal
jewellery. Prepare Trading and Profit and Loss Account
for the year ended 31 December2000 and a Balance
Sheet as on that date.

8 2411

(

~Q!j.~LDIJGUTV>lDmjDu~6\.j <!:p6U>jDuSl6b~GUT S;~8;@)S;m6IT

U~6\.j Q6uJ~ QJQ!j$1jDlnT.1.1.2000 c!!>IGUTWc!!>IQJIJ~~Q9ULjs;Qr :

~. ~.

S;LGUTA'p>a~rriT17.000 s;L~rrm1s;m20.000

S;C-LLlD 50.000 c!!>ImjDs;Q)GUT2,000

61J8;$1Q!jULj 25.000

c!!>IQJ IJ~ Q IJrr 8;S; 6J@ GlSlQJ 'lib :

. QUIJ)J~Q) (!!). Q6~~iI~Q)

s;Lmrr6lf\s;Sr 15.000 CLDQ)QJ6rlIJUulDlP/(1.1.?000)

QlJrrB;c$~IDu6rlm 80,000 Q6Q)Qjc$Sr

6r@ULjc$Sr

c$LQrR'p;C~rrri'

Q IJrr B;c$W

QJrfu.$1

95.000

iWthl6 6'l8;$lQ!jULj~,30.000.

iwthl c$L~rrm1c$GTr(!!j.25.000

iwthl c$Lm A'p>C~rriT~.12.000.

a~uJLDrr~lD: S;C-LLlD 1096. c!!>ImjDc$Q)GUT1596,

c$L~rrm1s;m LB~ 2t 96. 2BUJ8; c$LGUTc$rruLj Q6uJ~~c$. GlSlUJrrUrrIJ6

Q6Q)6\.jS;m1GUT@)LDIJGUT~L@ QJrrLmS; ~. 2.500 a6iTp>~GTr6IT~.

QlJrr8;S; GlSllDum~uSlGi) ~. 2,000 @)LDIJ~GUT1Dmc$ c!!>IL~$1

~GTr6IT~.

31.12.20006b <!:pI1}.QJ6U>L ~.I1}.ID.$c$rr~ iwthl

c$~.$~c$m6IT ~UJrrrf1.$c$6\.IlD.

-\

!/

9

(!!i.

10.000

50.000

3.000

20,000

2,000

10,000

95.000

2411

The following is the summary ofhis cash book:

Receipts Rs. Payments Rs.

Sundry Debtors 15,000 Bank OlD (1.1.2000) 10,000

Cash Sales 80,000 Expenses 50,000 \
Drawings 3,000 ,/

Creditors 20,000

Cash in hand 2,000

Cash at Bank 10,000

95,000 95,000

Closing Stock Rs. 30,000

Closing debtors Rs. 25,000

Closing creditors Rs. 12,000
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From the above particulars give journal entries
and relevant accounts in the books of Mr. Ramu, the
hire-buyer.

(
Rs.

(
9. Mr. Ramu purchased 4 cars for Re. 14,000 each on
1.1.2002 under the hire purchase system. The hire
purchase price for all the 4 cars was Rs. 60,000 to be
paid as Rs. 15,000 down payment and 3 equal
instalments of Rs. 15,000 each at the end of each year.
Interest is charged at 5% p.a. The buyer depreciates the
car at 10% p.a. on straight line method.

'20,000

18,000

2,000

80,000

Charu is admitted as a partner on the above data
on the following terms:

(a) He will pay Rs. 10,000 as goodwill for 1/4th
share in profits.

(b) The assets are to be valued as under:

Plant and Machinery Rs. 32,000. Stock
Rs. 18,000 provision on Debtors at 5%.

(c) It was found that creditors included a sum of
Rs. 1,400 which was not to be paid.

(d) There was a liability for compensation to
workers amounting to Rs. 2,000. ,

(e) Charu was to introduce Rs. 20,000 as capital
and the capital of the other partners were to be adjusted
in the profit sharing ratio. For this purpose, current
accounts were to be opened.

Give journal entries, Capital accounts and
the Balance Sheet of the new firm.

~<!9' IJrr(!p,(!9. 14,000 6))~Lh 4' ~LDrrLLrrrTQJrrs;mri.Js;~
1.1.2002G\> QJrrLmS; Qs;rr~(!p~G\> @~G\> @mlDuS1G\>QJrrri.J.$1~HTrT.

4 ~LDrrLLrrrT QJrrs;mri.Js;~,$s;rrm QJrrLmS; Qs;rr~ @~G\> G61mQ>

(!9. 60,000; fLLmlq- QlJrr,$s;LDrrs; (!9. 15,000@Lh L5~mlU

~6iJQQJrr<!9 ~~Cb'Lh (!9. 15.000 65~Lh 3 ~~Cb's;<@),$~
Qa:~p;~ aQJ~Cb'Lb.~~lq-!i>~ 596 QJL.lq-s;€m,$.$1LuuCb'.$IID~.

~<!9' IJrr(!p QJrrs;mri.Js;61f]6iJrL5~ 1096.alDlTas;rrCb'a~IiJLDrrmLh

~~~.$1JDrrlT ~m,$Qs;rr~(b\ ~QJIJ~ 6JL.lq-G\>(!p~!i>~nS1uauCb'
~nS1u~s;m~14Lb,aU~IJL<b' u~~s;m~14Lh ~<!9s;.

10. Arul and Balu are partners sharing profits in the
ratio of 3:2. Their Balance Sheets as on 1st January
2003 was as follows: .

Liabilities Rs. Assets Rs.

11 2411

Liabilities Rs. Assets

Arul 30,000 Stock

Balu 25,000 Debtors

General Reserve 10,000 Cash

80,000

Sundry creditors 15,000 Plant & Machinery 30,000,

Capital Accounts: Furniture 10,000

10 2411
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( ~0~ & urr~ ~0GtJ0lb 3:2 6rGUrIJ)G\S).$tp>~~6\>t51rf1~~

Qe;rr~~lb 8f\.L.Lrr6Tf)e;~.

, (
11. Following is the Balance SheetMis. A,B and C
who share profits and losses in the ratio of 2:2:1.

Liabilities Rs. Assets
~0LJL..j JBl6"6>6I>@)!5)ULj1.1.2003

Qurr.!PIuLje;~ e!!). Q8'rr~~.$e;~

u6>U6l>e;LGUrFFp;ap>rrn- 15.000 ~UJp;~1J1b

£b9.$e;6liGrL

a8'n-.$e;UWL.Lrrn- :

JB1 u p;pj6"6>me;6Tf16\> 8'rr(5

12

Rs.

e!!)..

30,000

10.000

20,000

18.000

2.000

80,000
The firm was dissolved and assets realised

gradually. Rs. 10,000 were received once, Rs. 15,000
another time and Rs. 9,000 finally. Show how each
instalment is to be distributed.

8f\.L.Lrr6Tf1 UJ rre;

~0GtJrr6ITn-e;~A, B LD6>WlbC ~0uLj JBl6"6>6I>@)!5)uLj

Qurrg!luLje;~ e!!). Q8'ITp;~.$e;~

e;LGUrFFp;apjrrn- 15,000 QlJrr.$e;1b

<!ppjQ>:

A

B

C

e;Lmrr6lf1e;~

15.000 8'1J8;(!!)

12,000 ~6"6>1De;6I>m

4.000 31.000

46.000

(~) 1/4 i6l>rru uriJ.$\6>.$e;ITe;,e!!). 10.000 GtJrr~e;

)D6>Q u UJ(5.$e; ITe; pj lJaGtJ 6IiGr(b) lb.

(~) Q8'ITp;~.$e;~ LDg!lLD~utSffiI. Q8'uJUJuUL.Lm
iUJp;~lJlb : 32,000; 8'1J.$@)18.000; &JUJ.$e;LGUre;rruLj 596.

(~) e;LGUrFFp;ap>rrn-a8'n-.$e;uuL.ffiI~6IT ('!9.1.400 pjlJUUL

apj6"6>GtJuS)Q>6"6>6I>. .
(FF) QpjrrWl6l>rr6IT0.$@))DL.L FFffiI.$@)('!9.2,000 ~~.$e;~lb.

(2.0) 8'IT(5 QPpjQ> (!!j. 2,000 pjlJaGtJ6liGrffillb. Lj~UJ

i6l>rru/)DL.L G\S).$\pjP;~GUrut.trQPpj6\>e;6m".$@)8'rfIQ8'uJUJUUL.(b).

)DLULj e;6m".$@) QpjITLriJe;~lb. QPpjQ> (!!)!5)uGuffil ; <!p~Q> e;6m".$(!!)1
i(5uLj 1fi16"6>6I>(!!)!D1uLl ~(5e;.

2411 13

(!!j.

2,000

12.000

22,000

10.000

46,000

2411

QPp>6\>: 6"6>1De;6I>lb

(5 30.000 8'1J.$@)

urrw 25,000 e;Lmrr6Tf1e;

Qurr e;rruLj 10,000 QIJIT.$e;lb'

80.000

Creditors 15,000 Cash in hand 2,000

Capital : Sundry Debtors 12,000

A 15,000 Stock 22,000

B 12,000 Furniture 10,000

C 4,000 31,000

46,000 46,000
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(
@Q)rrU//f>L.L ~.$1~w 2:2:1.1BlW6\J6OTWa;~Q)8;a;UUL.L§J.

Q6rr~§J8;a;Gir £~8;a;~L6\Jrrw ~wU~6OT Q6uJUJUUL.L6OT.

1 ~6\J~~ : 10.000

2 ~6\J~~: 15.000

3 ~6\J~~: 9.000

(

Q IJrr8;a;w 8O\.L.LrrGTfla;GTfI~ LCZ UJ

Qa;rrGirmUUL.L6OT~mu~~6OT a;rrL.LQjw.

~Gi;6\Jrrw u.$1rf~§J

12. What do you mean by depreciation? What are its
causes? Explain any two methods of depreciation.

a~uJU)rr6OT1b~IDI~§J ~~rT <8>I1DI6\J§Jl1.Jrr§J? <8>I~JD@)lfhu

a;rrlJ~r6Ja;Gir UJrr~6\J?GJa~WJw @IJ~(£\ C~uJU)rr6OTa;~8;£L.(£\

<!pmlDa;~m uWIDI~6\JIJU)rra;~~~Qjw.

14 2411
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